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Algebra: Inequalities
Graph each inequality on a number line.
Steps x= "2 1=s<4

Step 1: Draw circles

on the number line for = | :

each number in the < B > | «<o— : : —&>

3271 0 1 2 3 1 0 1 2 3 4

inequality.

Step 2: Decide if the
circles should be filled in.

Since the = sign is used, x could
equal ~2. Fill in the circle.

The = sign used between ~1
and s could equal ~1. Fill in the
circle for ~1.

Step 3: Shade a portion
of the number and line.

X is greater than or equal to ~2.
Shade numbers that are greater
than ~2.

D S e
3 271 0 1 2

>
3

s is any numbers that are

greater than or equal to ~1
less than 4. Shade the area
between the two numbers.

<O : ' D3>
1 0 1 2 3 4

Graph each inequality on a number line. Write a phrase for each.

1. r=1

2. g>~3

3. 3<t=0
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Algebra: Inequalities

Use the graphs to solve Problems 1-3.

Graph A
e ke | —|—|—| ||| ||
0 10 16 20 30 38 40 50
Graph B
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0 10 16 20 30 40 50
Graph C
0 10 20 30 38 40 50>

1. No more than 16 packages can fit into a Show Your Work

carton. Which graph represents this
inequality?

2. The local building code says that a certain
retaining wall must be no less than
16 inches and no more than 38 inches in
height. Which graph represents this
inequality?

3. The wrestling class is only open to
students who weigh more than 38
kilograms. Which graph represents this
inequality?

4. Estimate the student population of your
school. Write and graph an inequality
describing the population, where p
represents the number of students.
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